vy 2.6

3%) 2<3 gos X2 |
le 7

wnd > Bk colyr’ i




330) 2x-11<S  an/ 2x-8>-5

_ru TS _
tr 7
22< 18 St iol, 3x>3 o=—""0
£z R ;g
< g o &
(
| < x 1, 8)
%8’6) 1) €12 pnd 2(+1)<y %_
o - L2 \ | 242 < ¥ oz
s ¥ W L % £ @
Exsld Z ,
¥ 3 7 < (-5, 1)
x &2 .
E S
399) 3(223)>3 and Z(jc)z
576 "??3 ) { X’ZQ ~20
Bk ft Mwév ¢>c:«'"/l
62 712 3
4 6 v T =l
i f;é 7:‘
2ex R
390) (3x-9)¢|  and  3(eeb)<Y
Lt £ 1
}-. _,QL Z. \.L ?Ilvf‘é"éf
2 Gty avr g
) (5= +8) ¢ (53
(3)E=-%)< (4)E) Y™ (~e0,2
2n-FE2 . = 1
+& :{i x £ 6
3x £ 4
KL puds



3

“3x -2 -3 -2 ) 2 FE =2 r¢ ﬁ
' 3

W
2 & 2 v t 2 ZS ——
"z Z c«ﬂéw A l s
< & | [;/§j

—— —_—
_— — —

2?5‘) %z-—{ ¢ M ”%(I(»Z)Zﬂ W—‘Q
. g ~¥x-8 2 - ’
Glse-£69) v Bl
282 /2 W@&% — %«vm

—_— — —

-X2 ¥x
¥ W7 ¥ v Contoadi o
2,e 2 4 -2z X
> 7 o <=2
% 2B
3E A

396) -S< o] <7 | 393) S<nt) < g
; - ST

/

( ¥ [ + [
¢ < Y <l Z<%—7’C<é
A (2
| < ¢ L2
- < occ Z
— (D —
——=— | Z
S (1,2)
- _[“’/l I _ -
“00) =8 <Swx422-3
-2 -2 -2 — S0 —
[0 < 5x 275 D
5™ s S _
-2,71]



6<x

Yo2)xe-2 o x>3 £
\,/ o Pl s -2 3
”/7“‘&7/ [-60 —sz(B/OO)
4/0% x< 2 o e %
Jr s Z s
ny (-,2) VLS 02)
(/05)2+5x- o1 ey &l %
) 3 +( ¢+ 2 F(+2x 3 3
Sre2 oy ST (o, 10l
%53‘5— 3 £ x
7000) 2( 35 '/) ¢ o B’Cfi/ %
be-2<e ' 2
+2 +2 X2l
6>¢ < é ﬂﬂy/% o % ('(’O />U<Z/OO>
s 4 e
xél 2 x
WO) zx2>¢ @/» %(2-x)>0 , CE
1
¥-¥x2>0 z A
¢ _
()(%" 7)7 (i)(?) wé% bl H¥x
3 -8506 —
+8 +8 g>% (- o0 2)(/(5 00)
— & : e J /
}-;i>.'zzi 2>x
xV 6 XL



Q/Z} 37&'2>§L o

1¢ +L f
i — \Z

7L ol

6 4
x 71

)< ¢

—_— T—

‘/W) Lx-3¢¢ V m
1_3) () 2)
ﬂ’7

-6%<%

+é +4 x-2)z (5 (5 '
L U(j p)_()( W

_te tE

A

0L x

$18) 3247 5] and S
-2 -

—1 —7 \// | _‘?ﬁ?’_?

3xx 276 1y gy " z  z

g S “¥ex

e —_— —  —
—— ee—— e

(g 47223 e Sed)us3 g
3 ity T2E0e Cx-/S+5>3 , zf'i%
Bt Sxc-7723
727 @y%

— 5 +7 49

| 2% ¢ w20
x £ s <
.7C>2

2.0



§20) ~5< 2e-1< 7

b | & § 4/ m
-4 < 2x< &

2 2 /2:— [“2)%)
-2 £ € L F

—_—

—_—
—_— r—

(f,zg) b 2 34 o1
+) 42 \[/

%x>g wéL iﬁfé“/
v r 7 3
x> 2 x <
< X

Yay)-2(3z-¢)£2  and

~fx*8E 2 &[/

r6x ~% "2 1éx W::u/ﬂ !
¢ bx
< &
| =&

2.6 ¢




